% Synbolic Fourier Series
% ODD wO=pi, TO= 2*pi /w0, A=1

syns n t

wO=pi

TO= 2 %sec So fO = 0.5 sec
A=1

n =15 % Nurber of conponents

a0 = (/TO)*int(At,0,1)
an = (1/TO)*int(A*cos(n*wO*t),t,0,1)
bn = (1/TO)*int (A*si n(n*w0*t),t,0, 1)

% Answers

%a0 = 1/2

%an =[ 0, 0, 0, 0, O]

%bn =[ 1/pi, 0, 1/(3*pi), 0, 1/(5*pi)]
nl=[ 0: 1: 6]

bnl= [0 bn 0]

stem(nl, bnl)

title(' Spectrum from Synbol i cFouri er Spect ruml, wO0=pi"')
x| abel (" Frequencies X .5Hz")

wo =

3. 1416

T0

a0

1/2

an

[ 00 O, O, O, O]

bn =




[ /pi, O, 1/(3*pi), 0O, 1/(5*pi)]

nl =

bnl =

[ 0, 1/pi, 0, 1/(3*pi), 0, 1/(5*pi), O]

Spectrum from SymbolicFourierSpectrum1, wi=pi
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